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[1] PCB¥H 180,000 %220 K660
[1-1]€/ 78R b7 ==/l 810 0.3 0.8
[12] Y7 urb 7 ==/} 10,000 5 14
[1-3] NV Z7maRrbE Y =)L 37,000 10 40
[1-4]7 FF /7 ma b7 ==/ 57,000 30 100
[1-4-11 27T F—PCBD > H 33 44- T hT7umt 7 x=/L (#77) 730 0.4 1.3
[1-42] 275 F—PCBD > H 34457 FF7nunt ==/ (#81) 22 0.1 0.3
[1-5] X% 7 mu b7 ==L 36,000 40 110
[1-5-11 275 F—PCBD 5 5 233 44X % 7mnnt 7 ==/, (#105) 1,300 1 4
[1-5-2] 277 F—PCBD H 5 2344,5-XFrupnt 7 ==L (#114) 97 0.09 0.24
[1-5-3] 275 F—PCBD 5 © 2,344,547 nn b7 ==L (#118) 4,700 5 14
[1-5-4] 27T F—PCBD > H 2 344,524 7nnbt 7 ==/ (#123) 80 0.1 0.3
[1-5-5] 27T F—PCBD > H 3,344,547 nut 7 ==/ (#126) 21 0.1 0.3
[1-6] ~FH 7 mr b7 ==L 23,000 60 180
[1-6-11 275 F—PCBD 5 © 2,33 44 5-~FHr7un 7 x=/L (#156) 530 1 3
[1-6-2] 275 F—PCBD 9 % 23344 5-~FH /o7 ==/ (#157) 120 0.2 0.4
[1-6-3]1 27T F—PCBD 5 5 2,3 44 5,5-~F¥ oo b7 ==L (£167) 220 0.4 12
[1-6-4] 27T F—PCBD > L 3,3,44,55-~F /oo~ x= (#169) 2.0 0.1 0.3
[1-7]~F 47 aubt 7 =)L 10,000 60 170
[1-7-11 275 F—PCBD H © 2,2'3,3,44 5-~7 X 77 x=)L (#170) 1,200 6 17
[1-7-2] 275 F—PCBD 9 © 2,2'3,44' 55-~F X 7un 7 x=/L (#180) 2,600 20 50
[1-7-31 275 F—PCBD 5 H 2,33'44' 55-~F X /un 7 ==/ (#189) 45 0.07 0.19
TE A | 2,100 10 40
[1-9] /F 27 mube 7 =¥ 240 1 3
[1-10] ¥ HZ v 7 ==L 92 0.4 1.2
[2IHCB (~FH 7o Ey) 210 1 3
[6] DDT#H 11,000 %47 ¥OK12
[6-1] p,p'-DDT 1,600 0.9 2.8
[6-2] p,p'-DDE 1,900 2 5
[6-3] p,p'-DDD 5,300 0.5 1.4
[6-4] 0,p'-DDT 370 0.4 1.1
[6-5] 0,p'-DDE 220 0.5 12
[6-6] 0,p'-DDD 1,500 0.4 0.9
[7] 7 a7 U3 250 8.7 H25
[7-1] cis-Z B LT > 62 2 6
[7-2] trans-Z @2 LT 66 4 11
(731 4% 7o Ls tr(0.4) 0.4 1.0
[7-4] cis-/ 27 v )b 64 0.3 0.9
[7-5] trans- / F 2 1 )b 53 2 6
[8] ~7 % 7 v LHE tr(2.2) ¥K1.7 X349
[8-1] ~F % 7 m)v tr(0.9) 0.4 1.1
[8-2] cis-~T7 X 7 )L TRF T K 1.3 0.3 0.8
[8-3] trans-~T7' % 7 B LR F T K nd 1 3
[11-1] a-HCH 1,200 0.8 2.0
[11-2] B-HCH 930 0.8 2.4
[11-3]y-HCH (B4 : V> T v) 260 0.7 2.0
[11-4] -HCH 270 0.5 12
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[12] 7o sz nd 0.2 0.4
(131 ~FH7oee” ==L nd 0.6 1.5
[4]RY 7 rETT 2= —T VH (RFEED4PHI0ETOL D) 29,000 3100 ¥3%270
[14-117 h 77 BEY T == b2 —T VI 60 2 6
[14-1-1]122'44-7 R 77 BEY 7z =)L=—7 /L (H#47) 15 2 6
[14-2] XU ¥ T REY T = =)b=—T LI 36 2 5
[14-2-1122'445-X 27 0E®Y 7 2 =)L=—7 /L (#99) 12 2 5
[14-3] ~F P T uEY 7 2= —T U 43 2 4
[14-3-1]12,2'44'55-~F VT €Y 7 = =/L=—F )L (#153) 12 2 4
[14-3-2]12,2'44'5,6-~F VT 0 EY 7 = =/L=—F )L (#154) 5.2 0.7 1.7
[14-4] ~"TF T u®YT7 2=/ —T L 58 2 4
[14-4-112,2'3,3'4,5,6-~7 4 70 EY 7 x=)L=—F )L (#175) KN 36 2 4
[14-4-2]12,2'3,44'5.6-~7F 707 = =/L=—F /)L (#183) OAFHE
[14-51 427 4 T aEY 7 = =)L=—7 LI 98 4 10
[14-6] /F 7 BEY T = =)L T—F )LIH 1,200 9 24
1471 F A7 BEYT 2 =)LT—T )L 28,000 80 220
(5] _ATnFdat s # v 2k (PFOS) 110 2 5
[16] v 7 vFat s % U (PFOA) 60 5 12
(171X & 7maXPr 160 0.3 0.9
[19] B U TF AR LAY 15,000 80 160

56,000

5,900
[20] MU 7 ==L 2 X{LAEW 4,700 30 70

2,800

6,000
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